
Social Justice 

I. Select the correct answer from the followings

Question 1. 
From which language the word ‘jesus’ is taken? 
(a) Latin 
(b) Greek, 
(c) English 
(d) None.

Answer

Answer: (a) Latin

Question 2. 
In which book Plato gave his idea of justice? 
(a) Politics 
(b) Republic 
(c) The Republic 
(d) Prince

Answer

Answer: (c) The Republic

Question 3. 
Who is concerned with distributive justice? 
(a) Plato 
(b) Confucius 
(c) John Rawls 
(d) None.

Answer

Answer: (c) John Rawls

Question 4. 
By which Article of Indian Constitution, untouchability is abolished. 
(a) Art. 14.
(b) Art. 17 
(c) Art. 18 
(d) Art. 15.

Answer

Answer: (b) Art. 17

II. Fill in the blanks with suitable words



Question 1. 
……………. is considered with distributive justice.

Answer

Answer: View of ignorance

Question 2. 
Plato considered justice in terms of …………… of different classes in each other area.

Answer

Answer: Non-interference

Question 3. 
……………… was a Chinese philosopher who gave his idea about justice.

Answer

Answer: Confucius.

Question 4. 
……………… is given top priority in Preamble of Indian Constitution.

Answer

Answer: Social justice

Question 5. 
…………… supports state intervention for social justice.

Answer

Answer: Socialists.

III. Choose the Right and Wrong answers.

Question 1. 
Justice has been different in different points of time.

Answer

Answer: True

Question 2. 
Aristotle was the beginner of distributive justice.

Answer

Answer: True



Question 3. 
Plato gave justice in ‘Politics’.

Answer

Answer: Wrong

Question 4. 
Free market economy supports state intervention for social justice.

Answer

Answer: Wrong

Question 5. 
Religious justice is not mentioned in the preamble of Indian Constitution.

Answer

Answer: True

Question 6. 
Untouchability is abolished in India.

Answer

Answer: True

Question 7. 
The purpose of the chapter of Directive Principle of State Policy is promotion of justice.

Answer

Answer: True

Question 8. 
Kant gave emphasis on human dignity for social justice.

Answer

Answer: True

Question 9. 
Socialists do not support state intervention for social justice.

Answer

Answer: Wrong



Question 10. 
The concept of veil of ignorance is given by John Rawls.

Answer

Answer: True

IV. Match the followings

Column A Column B

A. Welfare measures for the handicaps. 1. China

B. Justice as fair and rational society. 2. Free market.

C. Confucius. 3. Special needs.

D. Freedom of expression of one’s skill. 4. John Rawls.

E. Immanuel Kant 5. Justice in terms of dignity.
Answer

Answer:

Column A Column B

A. Welfare measures for the handicaps. 3. Special needs.

B. Justice as fair and rational society. 4. John Rawls.

C. Confucius. 1. China

D. Freedom of expression of one’s skill. 2. Free market.

E. Immanuel Kant 5. Justice in terms of dignity.


